Agenda Item: 6A.

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS

AGENDA ITEM SUMMARY

======================================	[] []	Consent Workshop	[X] Regular [] Public Hearing
Submitted By: Department of Airports		=======================================	

I. EXECUTIVE BRIEF

Motion and Title: Staff recommends motion to approve:

- (A) A contract (Contract) with Rio-Bak Corporation (Rio-Bak) in the amount of \$426,085 and 146 Calendar Days for the Miscellaneous Drainage Repairs project at Palm Beach International Airport (PBI); and
- **(B)** A Budget Transfer in the amount of \$55,233 in the Airport's Improvement and Development Fund, including a transfer from Reserves of \$55,233.

Summary: This project was advertised utilizing the County's competitive bid process. On March 31, 2022, two (2) bids were opened for the Miscellaneous Drainage Repairs project at PBI. Rio-Bak is located in Palm Beach County and has been identified as the lowest responsible/responsive bidder in the amount of \$426,085. This project consists of repair and replacement of existing drainage facilities at various locations within the property limits of PBI both inside and outside the airport perimeter security fence. The project was presented to the Goal Setting Committee on January 12, 2022 and an Affirmative Procurement Initiatives (API's) of 8% Small Business Enterprise (SBE) participation was applied. The Contractor has committed to 9.3% SBE participation. Pursuant to changes to Chapter 332, Florida Statutes, effective October 1, 2020, a governing body of a commercial service airport may not approve purchases of contractual services in excess of the Category Five threshold amount of \$325,000 provided in Section 287.017, Florida Statutes, on a consent agenda. This contract exceeds the threshold amount and must be approved on the regular agenda. **Countywide (AH)**

Background and Policy Issues: This project consists of repair and replacement of existing drainage facilities at various locations within the property limits of PBI both inside and outside the airport perimeter security fence. The repairs include replacement of existing drainage structures and stabilization of the banks along drainage conveyance canals. These repairs will extend the life of the drainage structures and minimize the effects of future erosion. Builder's Risk Insurance is not required for this project.

Attachments:

- 1. Three (3) original contracts w/Rio-Bak Corporation
- 2. Bid Tabulation/Engineers and OEBO Compliance Form J
- 3. Budget Transfer

		
Recommended By: While	Louin Buld	6-14-22
	Department Director	Date
Approved By:	Baken	1/8/22
-	County Administrator	Date (

II. FISCAL IMPACT ANALYSIS

A. Five Year Summary of Fisc	cal Impact:				
Fiscal Years	20 <u>22</u>	20 <u>23</u>	20 <u>24</u>	20 <u>25</u>	20 <u>26</u>
Capital Expenditures Operating Costs External Revenues (Grants) Program Income (County) In-Kind Match (County) NET FISCAL IMPACT	\$426,085 \$426,085				
# ADDITIONAL FTE POSITIONS (Cumulative)		***************************************			
Is Item Included in Current Bu Does this item include the use		ds?	Yes	No X No X	-
Budget Account No: Fund 4 Repo	111 Departme rting Category		nit <u>A422</u> C	bject <u>6505</u>	
B. Recommended Sources of	f Funds/Summa	ary of Fisca	ıl Impact:	-	H
Approval of this item provided of \$426,085. Funding sout transfer from Reserves of Stransfer from Rese	rces are Airport I \$55,233.		in the amour		
	III. REVIE	W COMME	NTS		
A. OFMB Fiscal and/or Contr	act Developme	nt and Con	trol Comme	nts:	
VIX Mari 6/13/22 OFMB MG 6/16/22	_	Conti	ract Dev. and	Jawlea I Control	(6/28/3
B. Legal Sufficiency:				, ,	J
Assistant County Attorney	<u>/5/</u> 22				
C. Other Department Review	:				
Department Director					

REVISED 11/17

(THIS SUMMARY IS NOT TO BE USED AS A BASIS FOR PAYMENT)



Palm Beach County **Compliance Summary Report**

Vendor Number	Vendor Name	AM Best Rating	Insurance Carrier	Policy #	Eff, Date	Exp. Date	Coverage	Contract Number	Contract Name
DX00001799	Rio-Bak Corporation	Modified	Compliant					PB 22-1	Rio-Bak Corporation
		Ap , XV	Liberty Mutual Fire Insurance Company	as7z91454780021	6/30/2021	6/30/2022	Auto Liability		
		Ar , XV	Liberty Insurance Corporation	th7z91454780041	6/30/2021	6/30/2022	Excess Liability		
		Ap , XV	Liberty Mutual Fire Insurance Company	tb7z91454780011	6/30/2021	6/30/2022	General Liability		
		A++g , XV	Travelers Property Casualty Company of America	QT6606382L136TIL21	6/30/2021	6/30/2022	Installation Floater		
		A+ , X	Bridgefield Employers Insurance	83019364	9/11/2021	9/11/2022	Workers Comp		

Risk Profile :

Standard - General Services-AOA

Required Additional Insured: Palm Beach County Board of County Commissioners

Ownership Entity:

CONTRACT

THIS CO	ONTRACT ("Con	tract") is ma	de and en	tere	d int	o on .					, between
PALM I	BEACH COUNT	Y, a politica	l subdivis	ion	of th	e Sta	te of Florid	a, by	and throu	gh its	Board of
County	Commissioners	hereinafter	referred	to	as	the	"County"	or	"Owner"	and	RIO-BAK
CORPO	RATION, hereir	nafter referre	d to as the	"C	TNC	RAC	CTOR".				

WITNESSETH:

That the said Contractor having been awarded the contract for the:

MISCELLANEOUS DRAINAGE REPAIRS PROJECT NO. PB 22-1

And in accordance with the Contract Documents and for the promises and mutual consideration specified herein, the Contractor hereby covenants and agrees to undertake and execute all of the Work awarded hereunder in a good and workmanlike manner and further agrees to furnish and pay for all materials, labor, supervision, equipment, supplies, fees, expertise, and services necessary to fully complete all Work in accordance with all requirements of the Contract Documents and in accordance with all applicable codes and governing regulations, within the time limit specified in the Bid Form.

The Contract is defined to mean and agreed to consist of this agreement, as may be amended, and the Contract Documents which consist of the following documents which are incorporated herein by reference:

- Approved Contract amendments, when executed;
- Completed Bid Form and Completed Attachments 1 through 7 dated March 30, 2022;
- Completed Bonds, Completed Guarantee and Certificates of Insurance dated
- General Conditions dated February 2022;
- Special Conditions dated <u>February 2022</u>;
- The Invitation to Bid and Instructions to Bidders dated February 2022;
- Technical Specifications dated February 2022;
- Drawings (as identified by Index of Drawings) dated <u>February 7, 2022</u>:
- Addenda No. 1 dated March 8, 2022;
- Addenda No. 2 dated March 21, 2022;
- Addenda No. 3 dated March 23, 2022.

Contractor agrees to accept as full compensation for the satisfactory performance of this Contract the sum of Four Hundred Twenty Six Thousand Eighty Five and 00/100 (\$426,085.00), Total Bid Amount, Base Bid plus Additive Bid No. 1. The prices named in the Bid are for the completed Work and all expense, direct or indirect, connected with the proper execution of the Work and of maintaining the same until it is accepted by the Board of County Commissioners. It is understood that the Contractor holds and will maintain current appropriate certification and/or license for the purpose of performing the specified Work pursuant to the Contract. The time limit for the Substantial Completion of all Work under the Contract shall be

8/27/21 Non-Federal PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport Contract - 1

as stated in the Bid Form. The date fixing the beginning of this period upon the calendar shall be established and stated in the Notice to Proceed.

The Governing Order of the Contract is agreed to be as follows: The Contract includes various divisions, sections and conditions which are essential parts for the Work to be provided by the Contractor. A requirement occurring in one is as binding as though occurring in all. They are intended to be complementary and to describe and provide for a complete Project. In case of discrepancy, the following precedence will govern the interpretation of the Contract Documents:

- 1. This Contract and any amendments to this Contract;
- 2. The Invitation to Bid and Instructions to Bidders;
- 3. Special Conditions;
- 4. General Conditions;
- 5. Insurance Certificates, Public Construction Bond and Guarantee
- 6. The Construction Documents
- 7. The Contractor's Completed Bid Form and Completed Attachments 1 through 6

In the event that any conflicts cannot be resolved by reference to this Governing Order of Contract Documents provision, then Owner shall resolve the conflict in any manner which is acceptable to Owner and which comports with the overall intent of the Contract.

THE REMAINDER OF THIS PAGE INTENTIONALLY LEFT BLANK

8/27/21 Non-Federal PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport Contract - 2

IN WITNESS WHEREOF, the Board of County Commissioners of Palm Beach County, Florida, has made and executed this Contract on behalf of the said County and caused the seal of the said County to be affixed hereto, and the Contractor has hereunto set its hand and seal the day and year written. The Contractor represents that it is authorized to do business in the State of Florida and to execute this contract on behalf of itself and its Surety.

ATTEST: JOSEPH ABRUZZO, Clerk of the Circuit Court & Comptroller	PALM BEACH COUNTY, FLORIDA, a Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS
By: Deputy Clerk	By:Robert S. Weinroth, Mayor
APPROVED AS TO FORM AND LEGAL SUFFICIENCY	APPROVED AS TO TERMS AND CONDITIONS
Hacie go Rims	CONTRACTOR By: R. c - Bek Corporation (Corporate Name)
Stacie To Rime (witness signature) Stacie To Rime (witness name printed)	By: (signatory) Thomas, the Joseph Joseph
(witness signature) MARK SIRCHED	(print signatory's name) Its' (print title)
(witness name printed)	(Corporate Seal)

8/27/21 Non-Federal PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport Contract - 3



April 25, 2022

Palm Beach County Board of County Commissioners c/o Palm Beach County Department of Airports 846 Palm Beach Department of Airports West Palm Beach, FL 33406

RE: Authority to Date Bonds and Powers of Attorney

Principal: Rio-Bak Corporation

Bond No.: 2328851

Project: Miscellaneous Drainage Repairs at Palm Beach

International Airport - PB 22-1

To Whom It May Concern:

Please be advised that as Surety on the above referenced bond, executed on your behalf for this project, we hereby authorize you to date the bonds and the powers of attorney concurrent with the date of the contract agreement.

Once dated, please send a copy of the dated bonds to our office.

North American Specialty Insurance Company

Brett A. Ragland Attorney-in-fact

PUBLIC CONSTRUCTION BOND

BOND NUMBER 2	2328851
BOND AMOUNT	\$426,085.00
CONTRACT AMOUNT	\$426,085.00
CONTRACTOR'S NAM	E: Rio-Bak Corporation
CONTRACTOR'S ADD	RESS: 12773 Forest Hill Blvd., Suite 210, Wellington, FL 33414
CONTRACTOR'S PHOT	NE: (561)791-9721
SURETY COMPANY:	North American Specialty Insurance Company
SURETY'S ADDRESS:	1200 Main Street, Suite 800
	Kansas City, MO 64105
SURETY'S PHONE:	(913)676-5200
OWNER'S NAME:	PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS
OWNER'S ADDRESS:	c/o Palm Beach County Department of Airports 846 Palm Beach Department of Airports West Palm Beach, FL 33406-1470
OWNER'S PHONE:	(561) 471-7400
PROJECT NAME:	Miscellaneous Drainage Repairs at Palm Beach International Airport
PROJECT NUMBER:	<u>PB 22-1</u>
CONTRACT NUMBE	ER (to be provided after Contract award):
locations within the pro-	ORK: Repair and replacement of existing Drainage facilities at various operty limits of the Palm Beach International Airport. The various locations and outside the airport perimeter security fence.
	PCN, or LEGAL DESCRIPTION: PCN Nos. 00424336000001080,
00424336050000010,	and 00424325000005310.

8/27/21 Non-Federal

Public Construction Bond - 1

PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport

This Bond is issued in favor of the County conditioned on the full and faithful performance of the Contract.

KNOW ALL MEN BY THESE PRESENTS: that Contractor and Surety, are held and firmly bound unto

Palm Beach County Board of County Commissioners 301 N. Olive Avenue
West Palm Beach, Florida 33401

as Obligee, herein called County, for the use and benefit of claimant as hereinbelow defined, in the amount of <u>Four Hundred Twenty Six Thousand Eighty Five and 00/100 Dollars (\$426,085.00), Total Bid Amount, Base Bid plus Additive Bid No. 1</u> for the payment whereof Principal and Surety bind themselves, their heirs, personal representatives, executors, administrators, successors and assigns, jointly and severally, firmly by these presents.

WHEREAS,

Principal has by written agreement entered into a contract with the County for

Project Name: Miscellaneous Drainage Repairs

Project No.: PB 22-1

Project Description: Repair and replacement of existing Drainage facilities at various locations within the property limits of the Palm Beach International Airport. The various

locations are located both within and outside the airport perimeter security fence.

Project Location: Palm Beach International Airport

in accordance with Drawings and Specifications prepared by

AECOM. West Palm Beach, FL 33409 Phone: 561-684-3375

which contract is by reference made a part hereof in its entirety, and is hereinafter referred to as the Contract.

THE CONDITION OF THIS BOND is that if Principal:

- 1. Performs the contract between Principal and County for the construction of <u>Miscellaneous</u> <u>Drainage Repairs at Palm Beach International Airport</u>, the contract being made a part of this bond by reference, at the times and in the manner prescribed in the contract; and
- 2. Promptly makes payments to all claimants, as defined in Section 255.05, Florida Statutes, supplying Principal with labor, materials, or supplies, used directly or indirectly by Principal in the prosecution of the work provided for in the contract; and

Public Construction Bond - 2

8/27/21 Non-Federal
PB 22-1 Miscellaneous Drainage Repairs
Palm Beach International Airport

- 3. Pays County all losses, damages (including liquidated damages), expenses, costs, and attorneys' fees, including appellate proceedings, that County sustains because of a default by Principal under the contract; and
- 4. Performs the guarantee of all work and materials furnished under the contract for the time specified in the contract, then this bond is void; otherwise it remains in full force.
- 5. Any changes in or under the contract documents and compliance or noncompliance with any formalities connected with the contract or the changes does not affect Surety's obligation under this bond and Surety waives notice of such changes.
- 6. The amount of this bond shall be reduced by and to the extent of any payment or payments made in good faith hereunder, inclusive of the payment by Surety of construction liens which may be filed of record against said improvement, whether or not claim for the amount of such lien be presented under and against the bond.
- 7. Principal and Surety expressly acknowledge that any and all provisions relating to consequential, delay and liquidated damages contained in the contract are expressly covered by and made a part of this Performance, Labor and Material Payment Bond. Principal and Surety acknowledge that any such provisions lie within their obligations and within the policy coverages and limitations of this instrument.

Section 255.05, Florida Statutes, as amended, together with all notice and time provisions contained therein, is incorporated herein, by reference, in its entirety. Any action instituted by a claimant under this bond for payment must be in accordance with the notice and time limitation provisions in Section 255.05(2), Florida Statutes. This instrument regardless of its form, shall be construed and deemed a statutory bond issued in accordance with Section 255.05, Florida Statutes.

Dated:	Rio-Bak Corporation
Witness	Principal (Seal)
Print Name	Name and Title Printed Thomas TK. 25 Jan - Vice President Note that the printed of the state o
Witness	North American Specialty Insurance Company Surety (Seal
Laura Krajczewski Witness	But A Bl
Print Name	Name and Title Printed

Any action brought under this instrument shall be brought in the court of competent jurisdiction in Palm

Copies Will Be Accepted

Bond Must Contain Original Signatures. No

Brett A. Ragland, Attorney-In-Fact and Florida Licensed Resident Agent

IMPORTANT: Surety companies executing bonds must appear and remain on the U.S. Treasury Department's most current list (Federal Register) during construction, guarantee and warranty periods, and be authorized to transact business in the State of Florida.

Beach County and not elsewhere.

8/27/21 Non-Federal PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport Public Construction Bond - 4

FORM OF GUARANTEE

GUARANTEE FOR (Contractor and Surety Name) Rio-Bak Corporation (Contractor)

North American Specialty Insurance Company (Surety)

We the undersigned hereby guarantee that the PB 22-1 Miscellaneous Drainage Repairs Palm Beach County, Florida, which we have constructed and bonded, has been done in accordance with the plans and specifications; that the work constructed will fulfill the requirements of the guaranties included in the Contract Documents. We agree to repair or replace any or all of our work, together with any work of others which may be damaged in so doing, that may prove to be defective in the workmanship or materials within a period of one year from the date of Substantial Completion of all of the above named work by the County of Palm Beach, State of Florida, without any expense whatsoever to said County of Palm Beach, ordinary wear and tear and unusual abuse or neglect excepted by the County. When correction work is started, it shall be carried through to completion.

In the event of our failure to acknowledge notice, and commence corrections of defective work within five (5) working days after being notified in writing by the Board of County Commissioners, Palm Beach County, Florida, we, collectively or separately, do hereby authorize Palm Beach County to proceed to have said defects repaired and made good at our expense and we will honor and pay the costs and charges therefore upon demand.

(Date to be filled in at substantial completion)

SEAL AND NOTARIAL ACKNOWLEDGMENT OF SURETY

Rio-Bak Corporation

(Contractor)

(Seal)

(Contractor Signature)

(Print Name and Title)

North American Specialty Insurance Company

(Surety)

(Seal)

Sur Brest A KXX

(Surety Signature)

Brett A. Ragland, Attorney-In-Fact and Florida Licensed Resident Agent

(Print Name and Title)

8/27/21 Non-Federal PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport

Guarantee Must Contain Original Signatures. No Copies Will Be

Accepted.

Form of Guarantee - 1

SWISS RE CORPORATE SOLUTIONS

NORTH AMERICAN SPECIALTY INSURANCE COMPANY WASHINGTON INTERNATIONAL INSURANCE COMPANY WESTPORT INSURANCE CORPORATION

GENERAL POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS, THAT North American Specialty Insurance Company, a corporation duly organized and existing under laws of the State of New Hampshire, and having its principal office in the City of Overland Park, Kansas and Washington International Insurance Company a corporation organized and existing under the laws of the State of New Hampshire and having its principal office in the City of Overland Park, Kansas, and Westport Insurance Corporation, organized under the laws of the State of Missouri, and having its principal office in the City of Overland Park, Kansas each does hereby make, constitute and appoint:

JOSEPH D. JOHNSON, JR., JOSEPH D. JOHNSON III, BRETT A. RAGLAND, FRANCIS T. O'REARDON, and TYLER RAGLAND

JOINTLY OR SEVERALLY
ts true and lawful Attorney(s)-in-Fact, to make, execute, seal and deliver, for and on its behalf and as its act and deed, bonds or other writings obligatory in the nature of a bond on behalf of each of said Companies, as surety, on contracts of suretyship as are or may be required or permitted by aw, regulation, contract or otherwise, provided that no bond or undertaking or contract or suretyship executed under this authority shall exceed the
amount of: ONE HUNDRED TWENTY FIVE MILLION (\$125,000,000.00) DOLLARS
This Power of Attorney is granted and is signed by facsimile under and by the authority of the following Resolutions adopted by the Boards of Directors of North American Specialty Insurance Company and Washington International Insurance Company at meetings duly called and held on March 24, 2000 and Westport Insurance Corporation by written consent of its Executive Committee dated July 18, 2011.
"RESOLVED, that any two of the President, any Senior Vice President, any Vice President, any Assistant Vice President, the Secretary or any Assistant Secretary be, and each or any of them hereby is authorized to execute a Power of Attorney qualifying the attorney named in the given Power of Attorney to execute on behalf of the Company bonds, undertakings and all contracts of surety, and that each or any of them hereby is authorized to attest to the execution of any such Power of Attorney and to attach therein the seal of the Company; and it is
FURTHER RESOLVED, that the signature of such officers and the seal of the Company may be affixed to any such Power of Attorney or to any certificate relating thereto by facsimile, and any such Power of Attorney or certificate bearing such facsimile signatures or facsimile seal shall be binding upon the Company when so affixed and in the future with regard to any bond, undertaking or contract of surety to which it is attached."
SEAL SEAL SEAL White Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company & Senior Vice President of Washington International Insurance Company
IN WITNESS WHEREOF, North American Specialty Insurance Company, Washington International Insurance Company and Westport Insurance Corporation have caused their official seals to be hereunto affixed, and these presents to be signed by their authorized officers this this4TH day ofDECEMBER, 2020
North American Specialty Insurance Company
Washington International Insurance Company
State of Illinois Westport Insurance Corporation County of Cook SS:
On this <u>4TH</u> day of <u>DECEMBER</u> , 20_20, before me, a Notary Public personally appeared <u>Steven P. Anderson</u> , Senior Vice President of
Washington International Insurance Company and Senior Vice President of North American Specialty Insurance Company and Senior Vice President of Washington International Insurance Company and Senior Vice President of Washington International Insurance Company and Senior Vice Presiden
of North American Specialty Insurance Company and Senior Vice President of Westport Insurance Corporation, personally known to me, who
being by me duly sworn, acknowledged that they signed the above Power of Attorney as officers of and acknowledged said instrument to be the voluntary act and deed of their respective companies.
OFFICIAL SEAL M. KENNY Notary Public. State of Illinois My Commission Expires 12/04/2021 M. Kenny, Notary Public
I, <u>Jeffrey Goldberg</u> , the duly elected <u>Vice President and Assistant Secretary</u> of North American Specialty Insurance Company, Washington International Insurance Company and Westport Insurance Corporation do hereby certify that the above and foregoing is a true and correct copy of a Power of Attorney given by said North American Specialty Insurance Company, Washington International Insurance Company and Westport Insurance Corporation which is still in full force and effect.
IN WITNESS WHEREOF, I have set my hand and affixed the seals of the Companies this day of, 20
Jeffrey Goldberg, Vice President & Assistant Secretary of Washington International Insurance Company &
North American Specialty Insurance Company & Vice President & Assistant Secretary of Westport Insurance Cor

CORPORATE CERTIFICATE

PI	BC PROJECT NUMBER: PB 22-1		DATE: 5/16/22
The	e undersigned hereby certifies that the follow	ving are true and c	orrect statements:
1.	That he/she is the Secretary of Rio existing in good standing under the laws referred to as the "Corporation", and that the Resolutions adopted by the Board of Direct 2020 in accordance with the laws of the Stat of Incorporation and the By-laws of the Co	ne following Resol tors of the Corpora te of the State of In	utions are true and correct conies of certain
	RESOLVED , that the Corporation shall en a political subdivision of the State of Florid be it		n Agreement between Palm Beach County, tion, a copy of which is attached hereto, and
	FURTHER RESOLVED, that Thomas hereby authorized and instructed to execunecessary and appropriate for the Corporation	s T. K.ngVe. that the such Agreement ion to fulfill its ob	of the Corporation, is ent and such other instruments as may be ligations under the Agreement.
2.	That the foregoing resolutions have not changed and remain in full force and effect		
3.	That the Corporation is in good standing unif other, and has qualified, if legally require and authority to enter into such Agreement	ed, to do business i	State of Florida or its State of Incorporation n the State of Florida and has the full power
IN Co	WITNESS WHEREOF, the undersigned rporation the day of May	d has set his har	and affixed the Corporate Seal of the
	Stack of Revision (Signatory) Where Stack To R (Print Signatory's Name) It's Secretary	mies	ad and affixed the Corporate Seal of the, 20 (CORPORATE SEAL):
onl cor	roorn TO (OR AFFIRMED) AND SUBStine notarization, this // day of // poration, who is personally known to me OR (did not) take an oath.	ace, 2	by the Secretary of the aforesaid as identification and who
The Contract of the Contract o	CARMEN L. GUERRIERO MY COMMISSION # HH41864 EXPIRES: September (3, 2024	Print Notary Na NOTARY PUE State of Florida My Commission	BLIC at Large
	Corpo	rate Certificate –	l

PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport

DISCLOSURE OF LOBBYING ACTIVITIES

Approved by OMB 0348-0046

Complete this form to disclose lobbying activities pursuant to 31 U.S.C. 1352 (See reverse for public burden disclosure.)

	(See reverse for pur	nic burden disclosi	ire.)			
1. Type of Federal Action:	2. Status of Federa	I Action:	3. Report Type:			
a. contract	a. bid/o	ffer/application	a. initial filir	ng l		
b. grant	b. initial	l award	b. material	change		
c. cooperative agreement	c. post-	award	For Material C	hange Only:		
d. loan	'		1	quarter		
e. loan guarantee				t report		
f. loan insurance			date of last	. Toport		
4. Name and Address of Reportir	na Entity:	5 If Reporting F	ntity in No. 4 is a Su	bawardee, Enter Name		
Prime Subawardee		and Address o	~	bawaracc, Enter Hame		
_	, if known:	dia Addicss o	i i i iliio.			
Congressional District, if know	n:		District, if known:			
6. Federal Department/Agency:		7. Federal Progr	am Name/Description	n:		
		if applicable:				
8. Federal Action Number, if know	vn:	9. Award Amour	it, it known:			
		\$				
10. a. Name and Address of Lobl (if individual, last name, first	•	b. Individuals Pedifferent from (last name, fir	•	including address if		
	(attach Continuation She	et(s) SF-LLLA, if neces	sary)			
11. Amount of Payment (check a	II that apply):	13. Type of Payı	nent (check all that a	ipply):		
\$ actual	planned	a. retainer				
10 = 1/1 1/1		b. one-time				
12. Form of Payment (check all th	nat арріу):	c. commiss				
a. cash		d. continge				
b. in-kind; specify: nature		e. deferred				
value	Manager Committee of the Committee of th	f. other; specify:				
		<u>L</u>				
14. Brief Description of Services			• •	cluding officer(s),		
employee(s), or Member(s) c	ontacted, for Payme	ent Indicated in Ite	em 11:			
	\mathcal{N}	1/4				
	(attach Continuation She	eet(s) SF-LLLA. if neces	sary)			
15. Continuation Sheet(s) SF-LL		Yes	□ No			
16. Information requested through this form is author 1352. This disclosure of lobbying activities is a upon which reliance was placed by the tier above or entered into. This disclosure is required pure information will be reported to the Congress semi-epublic inspection. Any person who fails to file the subject to a civil penalty of not less that \$10,000 each such failure.	rized by title 31 U.S.C. section material representation of fact when this transaction was made suant to 31 U.S.C. 1352. This annually and will be available for he required disclosure shall be	Signature: Print Name: Title: Telephone No.:	Thomas T	K. J. J. L. Date: 4-26		
Federal Hea Caba				Authorized for Local Reproduction		
Federal Use Only:				Standard Form LLL (Rev. 7-97)		

Living Wage Certification

In accordance with the Palm Beach County Living Wage Ordinance, the undersigned does hereby declare that it will and its subcontractors will pay each employee a living wage.

Project Name: MISC. ORAIN ACE INPROVEMENTS AT PBIA
Project Number: PB 22-1
Contractor: Riv - Bak Corporation
Contractor Address: 12773 FOREST HILL BWD, Swite 210, Wellington, FL 33414
Contractor Phone Number: 361 - 791 - 9721
Contract Amount: \$ 426,085.00
Contract for: (Brief Description of Services to be provided: IMPROVERENTS 54, 7, 9, 6
Statement of wage levels for Contractor's employees: RED BAK CORPORATION WAGE LEVELS PER PBC LIVING WAGE ORDINANCE

Vice President
(Title)
4-26-2022
(Date)

8/27/21 Non-Federal PB 22-1 Miscellaneous Drainage Repairs Palm Beach International Airport

Living Wage Certification - 1

LIVING WAGE CERTIFICATION SUBCONTRACTOR CERTIFICATION TO GENERAL CONTRACTOR

In accordance with the Palm Beach County Living Wage Ordinance, the undersigned does hereby declare that it will, and its subcontractors will pay each employee so entitled a living wage.

Project Name: MISC. DRAINAGE IMPROVEMENTS AT PBIA
Project Number: PB 22-1
Subcontractor: JOHNSON DAVIS, INC
604 HILLBRATH DR Subcontractor Address:
LANTANA, FL 33462
Subcontractor Phone Number: 561-588-1170
Subcontract Amount: \$26,400.00
Subcontract for: AREA 9
Statement of Wage Levels for Subcontractor's Employees:
JOHNSON DAVIS WAGE LEVELS PER PBC LIVING WAGE ORDINANCE
Ву:
(Signatory)
CHRISTOPHER JOHNSON
(Signatory Name Printed)
SECRETARY TREASURER
(Title)
5/2/22
(Date)

LIVING WAGE CERTIFICATION SUBCONTRACTOR CERTIFICATION TO GENERAL CONTRACTOR

In accordance with the Palm Beach County Living Wage Ordinance, the undersigned does hereby declare that it will, and its subcontractors will pay each employee so entitled a living wage.

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS Robert S. Weinroth, Mayor Greag K. Weiss. Vice Mayor Maria G. Marino Dave Kerner Maria Sachs Meliasa McKint. / Mack Bernard



COUNTY ADMINISTRATOR Verdenia C. Baker

DEPARTMENT OF AIRPORTS



Attachment No. 2

Based on the review by Palm Beach County Department of Airports (Exhibits A & B), it is our intent to recommend the award of the contract to Rio-Bak Corporation for the below listed project:

> Miscellaneous Drainage Repairs **Palm Beach International Airport** Palm Beach County Project No. PB 22-1 **Department of Airports**

Total Bid Amount, Base Bid: \$388,595.00 Total Bid Amount, Additive Bid No. 1: \$ 37,490.00

Total Bid Amount, Base Bid plus Additive Bid No. 1: \$426,085.00

Cynthia M. Portnoy, Deputy Director **Palm Beach County Department of Airports**

Dated: April 14, 2022

(Page 1 of 11)

816 PALM BEACH INTERNATIONAL APPORT West Pair Broth Florida 3406-410 361) 411 7400 FAX -561 471 -- 2 www.pbia.org

PALM BEACH COUNTY GLADES AIRPORT P: hokee

PALM BEACH COUNTY PARK AIRPORT Lantan

NOR THICOUNTY GENERAL AVIATION AIRPORT Palm B. - th Gardens

An Equal Opportunity-Affirmative Action Employer



April 14, 2022

Exhibit A

Mr. Gary Sypek Senior Deputy Director of Airports Palm Beach County Department of Airports 846 Palm Beach International Airport West Palm Beach, Florida 33406-1470

RE: PBC Project No. PB 22-1

PBI Miscellaneous Drainage Repairs
Palm Beach International Airport

Bid Tabulation and Contract Award Recommendation

Gary:

AECOM Technical Services, Inc. (AECOM) has reviewed the submitted bids for the referenced project. The established deadline for submission of bids was on March 30, 2022. The Bid Opening was conducted on March 31, 2022, at 2:00 PM.

Two (2) bids were received, from Rio-Bak Corporation and Ranger Construction Industries, Inc. Both Contractors have performed similar types of services as required by this Project, for the DOA, and each are qualified to perform the work included in this contract. The submitted Base Bid totals, along with the Engineer's Estimate and their Certification of Business Location (Attachment 5 to the Bid Form), are presented in the table below:

BIDDER	TOTAL BASE BID PRICE	LOCAL BUSINESS IN PALM BEACH COUNTY
Rio-Bak Corporation	\$388,595.00	√
Ranger Construction Industries, Inc.	\$408,119.30	✓
Engineer's Estimate	\$454,600.00	

AECOM's bid review indicated that Rio-Bak Corporation and Ranger Construction Industries, Inc. completed the Bid Form and necessary attachments as required per the bid documents. These bid documents include: Addenda acknowledgment, Bid Bond, List of Subcontractors/Self-performed trends, Trench Safety Affidavit, Certification of Business Location, Unit Price Bid Form, and the E-Verify Certification. The EBO Program Schedules will be reviewed by the Palm Beach County Office of Equal Business Opportunity (OEBO). No bidders were identified as a Glades business.

AECOM's review of the bids indicated that Rio-Bak Corporation and Ranger Construction Industries, Inc. were mathematically correct. Based on the evaluation of the bidder's qualifications and the bids submitted, AECOM recommends the PBC DOA award the PB 22-1, PBI Miscellaneous Drainage Repairs Contract to the lowest bidder, Rio-Bak Corporation, contingent on the Palm Beach County OEBO review of the bid documents. The Bid Tabulation and the Bid Review Checklist for all bidders are attached.

If you have any questions, please feel free to contact me. We would be pleased to address any issues at your convenience.

(Page 2 of 11)



Sincerely, AECOM Technical Services, Inc.

andrew Kace.

Andrew Kacer, PE

enclosures:

Bid Tabulation

Bid Review Checklist

\\na.aecomnet.com\\fs\AMER\Tampa-USTPA1\Legacy\USTPA3FP001\Data\Projects\Aviation\PBIA2018\LEVEL III TASKS\Task III\70-60670309 Task III-21-PBI-070 Drainage\400-Technical\402 Bid and Award\402.5 Bid Recom\Award Recommendation for PB 22-1

(Page 4 of 11)

			41412022						
				Engineer's	Engineer's Estimate Rio Bak		Ra	nger	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
		BASE	CONTRAC	T BID					
101-1	MOBILIZATION	LS	1	\$37,500.00	\$37,500.00	\$33,000.00	\$33,000.00	\$ 108,000.00	\$108,000.00
1030	MAINTENANCE OF AIR OPERATIONS TRAFFIC	LS	1	\$22,500.00	\$22,500.00	\$25,000.00	\$25,000.00	\$ 96,147.00	\$ 96,147.00
1720	PROJECT RECORD DOCUMENTS	LS	1	\$3,000.00	\$3,000.00	\$21,000.00	\$21,000.00	\$ 11,830.00	\$ 11,830.00
	AREA 5A								
104-11	FLOATING TURBIDITY BARRIER	LF	170	\$20.00	\$3,400.00	\$25,00	\$4,250.00	\$ 18.00	\$ 3,060.00
120-1	EXCAVATION (1')	CY	110	\$60.00	\$6,600.00	\$46.00	\$5,060.00	\$ 28.15	\$ 3,096.50
110-4-10	CONCRETE REVETMENT REMOVAL	SY	20	\$200.00	\$4,000.00	\$75.00	\$1,500.00	\$ 112.20	\$ 2,244.00
920-530-4	FABRIFORM FILTERPOINT REVETMENT	SY	110	\$225,00	\$24,750.00	\$145.00	\$15,950.00	\$ 112.00	\$ 12,320.00
570-1-2	PERFORMANCE TURF, SOD	SY	280	\$5,00	\$1,400.00	\$9.00	\$2,520.00	\$ 15.18	\$ 4,250.40
	AREA 7								
104-11	FLOATING TURBIDITY BARRIER	LF	175	\$20.00	\$3,500.00	\$35.00	\$6,125.00	\$ 26.00	\$ 4,550.00
120-1	EXCAVATION (1')	CY	140	\$60.00	\$8,400.00	\$140.00	\$19,600.00	\$ 44.20	\$ 6,188.00
920-530-4	FABRIFORM FILTERPOINT REVETMENT	SY	70	\$225.00	\$15,750.00	\$275.00	\$19,250.00	\$ 123.00	\$ 8,610.00
570-1-2	PERFORMANCE TURF, SOD	SY	360	\$5.00	\$1,800.00	\$11.00	\$3,960.00	\$ 14.10	\$ 5,076,00
	AREA 9								
104-11	FLOATING TURBIDITY BARRIER	LF	410	\$20.00	\$8,200.00	\$25.00	\$10,250.00	\$ 19.00	\$ 7,790.00
120-1	EXCAVATION (6")	CY	200	\$60.00	\$12,000.00	\$44.00	\$8,800.00	\$ 77.35	\$ 15,470,00
120-6	EMBANKMENT (BACKFILL)	CY	250	\$60.00	\$15,000.00	\$83.00	\$20,750.00	\$ 54.10	\$ 13,525,00
110-1-1	HEADWALL REMOVAL	EA	11	\$2,000.00	\$2,000.00	\$1,335.00	\$1,335.00	\$ 3,524.00	\$ 3,524.00
920-530-4	FABRIFORM FILTERPOINT REVETMENT	SY	1,200	\$225.00	\$270,000.00	\$140,00	\$168,000.00	\$ 67.70	\$ 81,240.00
430-524-100	STRAIGHT CONCRETE ENDWALL, 24"	EA	1	\$4,000.00	\$4,000.00	\$5,785.00	\$5,785.00	\$ 9,362.00	\$ 9,362.00
430-175-124	24" RCP PIPE	LF	20	\$120.00	\$2,400.00	\$556.00	\$11,120.00	\$ 184.00	\$ 3,680.00
110-1-1	FENCE REMOVAL	LF	120	\$10.00	\$1,200.00	\$22.25	\$2,670.00	\$ 13.85	\$ 1,662.00
550-10	FENCE REPLACEMENT	LF	120	\$60.00	\$7,200.00	\$22.25	\$2,670.00	\$ 54.12	\$ 6,494.40
				TOTAL	\$454,600.00	TOTAL	\$388,595.00	TOTAL	\$408,119,30
						SUBMITTED	\$388,595.00	SUBMITTED	\$408,119,30
						DIFFERENCE	\$0.00	DIFFERENCE	\$0,00

(Page 5 of 11)

				Engineer's Estimate		Engineer's Estimate Rio Bak Ra		Rio Bak		nger
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UN	IT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	ADDITIVE CONTRACT BID No. 1									
101-1	MOBILIZATION	LS	1	\$	2,200.00	\$2,200.00	\$ 15,000.00	\$ 15,000.00	\$ 17,491.00	\$ 17,491.00
1030	MAINTENANCE OF AIR OPERATIONS TRAFFIC	LS	1	\$	5,000.00	\$5,000.00	\$ 3,000.00	\$ 3,000.00	\$ 10,200.00	\$ 10,200.00
1720	PROJECT RECORD DOCUMENTS	LS	1	\$	1,500.00	\$1,500.00	\$ 2,700.00	\$ 2,700.00	\$ 9,312.00	\$ 9,312.00
104-11	FLOATING TURBIDITY BARRIER	LF	170	\$	20.00	\$3,400.00	\$ 25,00	\$ 4,250.00	\$ 18,00	\$ 3,060.00
120-1	EXCAVATION (6")	CY	95	\$	60.00	\$5,700.00	\$ 22,00	\$ 2,090.00	\$ 32.60	\$ 3,097.00
920-530-4	FABRIFORM FILTERPOINT REVETMENT	SY	40	\$	225.00	\$9,000.00	\$ 151.00	\$ 6,040.00	\$ 279.15	\$ 11,166.00
570-1-2	PERFORMANCE TURF, SOD	SY	490	\$	5.00	\$2,450.00	\$ 9.00	\$ 4,410.00	S 12.52	\$ 6,134.80
					TOTAL	\$29,250.00	TOTAL	\$37,490.00	TOTAL	\$60,460.80
							SUBMITTED	\$37,490.00	SUBMITTED	\$60,460.80
							DIFFERENCE	\$0.00	DIFFERENCE	\$0.00

(Page 6 of 11)

				Engineer's Estimate		Engineer's Estimate Rio Bak		Ra	Ranger	
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT	COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
ADDITIVE CONTRACT BID No. 2										
101-1	MOBILIZATION	LS	1	\$ 13	3,000.00	\$13,000.00	\$ 15,000.00	\$ 15,000.00	\$ 57,700.00	\$ 57,700.00
1030	MAINTENANCE OF AIR OPERATIONS TRAFFIC	LS	1	\$ 10	00.000,0	\$10,000.00	\$ 22,300.00	\$ 22,300.00	\$ 52,855.00	\$ 52,855.00
1720	PROJECT RECORD DOCUMENTS	LS	1	\$ 2	2,500.00	\$2,500.00	\$ 5,500.00	\$ 5,500.00	\$ 9,312.00	\$ 9,312.00
	AREA 4									
104-11	FLOATING TURBIDITY BARRIER	LF	120	\$	20.00	\$2,400.00	\$ 25.00	\$ 3,000.00	\$ 19.70	\$ 2,364.00
120-1	EXCAVATION (6")	CY	95	\$	60.00	\$5,700.00	\$ 100.00	\$ 9,500.00	\$ 127.00	\$ 12,065.00
120-6	EMBANKMENT (BACKFILL)	CY	60	\$	60.00	\$3,600.00	\$ 90.00	\$ 5,400.00	\$ 277.00	\$ 16,620.00
920-530-4	FABRIFORM FILTERPOINT REVETMENT	SY	265	\$	225.00	\$59,625.00	\$ 155.00	\$ 41,075.00	\$ 83.70	\$ 22,180.50
	AREA 5B									
104-11	FLOATING TURBIDITY BARRIER	LF	65	\$	20.00	\$1,300.00	\$ 25.00	\$ 1,625.00	\$ 24.70	\$ 1,605.50
120-1	EXCAVATION (6")	SY	60	\$	60.00	\$3,600.00	\$ 39.00	\$ 2,340.00	\$ 120,80	\$ 7,248.00
110-1-1	SAND CEMENT HEADWALL REMOVAL	LF	120	\$	40.00	\$4,800.00	\$ 33.00	\$ 3,960.00	\$ 40.30	\$ 4,836.00
530-1-100	SAND CEMENT WALL	LF	120	\$	400.00	\$48,000.00	\$ 290.00	\$ 34,800.00	\$ 264,30	\$ 31,716.00
570-1-2	PERFORMANCE TURF, SOD	5Y	350	\$	5.00	\$1,750,00	\$ 9.00	\$ 3,150.00	\$ 19.75	\$ 6,912,50
					TOTAL	\$156,275.00	TOTAL	\$147,650.00	TOTAL	\$225,414.50
							SUBMITTED	\$147,650.00	SUBMITTED	\$225,414.50
							DIFFERENCE	\$0.00	DIFFERENCE	\$0.00

(Page 7 of 11)

				E	Engineer's	s Estimate	Rio	Bak	Ra	nger.
ITEM NO.	ITEM DESCRIPTION	UNIT	QUANTITY	U	NIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	ADDI	TIVE CO	ONTRACT	BI	D No. 3		-			
101-1	MOBILIZATION	LS	1	\$	6,700.00	\$6,700.00	\$ 20,000.00	\$ 20,000.00	\$ 46,442.00	\$ 46,442.00
1030	MAINTENANCE OF AIR OPERATIONS TRAFFIC	LS	1	\$	10,000.00	\$10,000.00	\$ 15,000.00	\$ 15,000.00	\$ 40,400.00	\$ 40,400.00
1720	PROJECT RECORD DOCUMENTS	LS	1	\$	2,500.00	\$2,500.00	\$ 17,800.00	\$ 17,800.00	\$ 9,312.00	\$ 9,312.00
	AREA 1			Г						
104-11	FLOATING TURBIDITY BARRIER	LF	30	\$	20.00	\$600.00	\$ 25.00	\$ 750.00	\$ 37.30	\$ 1,119.00
120-1	EXCAVATION (2')	CY	15	\$	60.00	\$900.00	\$ 74.00	\$ 1,110.00	\$ 148.00	\$ 2,220.00
570-1-2	PERFORMANCE TURF, SOD	SY	50	\$	5.00	\$250.00	\$ 9.00	\$ 450.00	\$ 22.05	\$ 1,102.50
530-3-4	RIP RAP	TN	30	\$	140.00	\$4,200.00	\$ 250.00	\$ 7,500.00	\$ 171.00	\$ 5,130.00
530-74	BEDDING STONE	TN	5	\$	100.00	\$500.00	\$ 80.00	\$ 400.00	\$ 977.00	\$ 4,885.00
	AREA 2									
104-11	FLOATING TURBIDITY BARRIER	LF	130	\$	20.00	\$2,600.00	\$ 25,00	\$ 3,250.00	\$ 19.25	\$ 2,502.50
120-1	EXCAVATION (2')	CY	75	\$	60.00	\$4,500.00	\$ 75.00	\$ 5,625.00	\$ 41.25	\$ 3,093.75
120-6	EMBANKMENT (BACKFILL)	CY	75	\$	60.00	\$4,500.00	\$ 90.00	\$ 6,750.00	\$ 33,00	\$ 2,475.00
570-1-2	PERFORMANCE TURF, SOD	SY	125	\$	5.00	\$625,00	\$ 9.00	\$ 1,125.00	\$ 24.62	\$ 3,077.50
110-1-1	MITERED END SECTION, REMOVAL	EA	1	\$	1,000.00	\$1,000.00	\$ 1,400.00	\$ 1,400.00	\$ 2,014.00	\$ 2,014.00
430-982-125	MITERED END SECTION, 18"	EA	1	\$	2,000.00	\$2,000.00	\$ 3,500.00	\$ 3,500.00	\$ 7,240.00	\$ 7,240.00
430-174-118	18" RCP PIPE	LF	8	\$	135.00	\$1,080.00	\$ 645.00	\$ 5,160.00	\$ 454.00	\$ 3,632.00
	AREA 3									
104-11	FLOATING TURBIDITY BARRIER	LF	130	\$	20.00	\$2,600.00	\$ 25.00	\$ 3,250.00	\$ 19.25	\$ 2,502.50
110-4-10	CONCRETE REVETMENT REMOVAL	SY	90	\$	30,00	\$2,700.00	\$ 120.00	\$ 10,800.00	\$ 23.05	\$ 2,074.50
120-1	EXCAVATION (2')	CY	90	\$	60.00	\$5,400,00	\$ 77.00	\$ 6,930.00	\$ 34.40	\$ 3,096.00
120-6	EMBANKMENT (BACKFILL)	CY	90	\$	60.00	\$5,400.00	\$ 87.00	\$ 7,830,00	\$ 64.30	\$ 5,787.00
920-530-4	FABRIFORM FILTERPOINT REVETMENT	SY	90	\$	225.00	\$20,250.00	\$ 159.00	\$ 14,310.00	\$ 124.05	\$ 11,164.50
570-1-2	PERFORMANCE TURF, SOD	SY	50	\$	5.00	\$250.00	\$ 9.00	\$ 450.00	\$ 50.20	\$ 2,510.00
	AREA 10									
	EXCAVATION (2')	CY	35	\$	60.00	\$2,100.00	\$ 95.00	\$ 3,325.00	\$ 88.40	\$ 3,094.00
	RIP RAP	TN	60	\$	140.00	\$8,400.00	\$ 250.00	\$ 15,000.00	\$ 125.42	\$ 7,525.20
530-74	BEDDING STONE	TN	12	\$	100.00	\$1,200.00	\$ 80.00	\$ 960.00	\$ 446.00	\$ 5,352.00
	TOTAL \$90,255.00						TOTAL	\$152,675.00	TOTAL	\$177,750.95
							SUBMITTED	\$152,675.00	SUBMITTED	\$177,760.95
							DIFFERENCE	\$0.00	DIFFERENCE	\$0.00

ਚ
ag
e
8
\mathbf{g}
_
じ

PALM BEACH INTERNATIONAL AIRPORT								
PB 22-1 MISCELLANEOUS DRA	INAGE REPAIRS							
TASK: I-19-PBI-A-0	021							
BID TABULATION SCH	IEDULE							
4/4/2022								
CONTRACT BID TO	TALS							
	Engineer's Estimate	Rio Bak	Ranger					
BASE CONTRACT BID	\$454,600.00	\$388,595.00	\$408,119.30					
ADDITIVE CONTRACT BID No.1	\$29,250.00	\$37,490.00	\$60,460.80					
ADDITIVE CONTRACT BID No.2	\$156,275.00	\$147,650.00	\$225,414.50					
ADDITIVE CONTRACT BID No.3	\$90,255.00	\$152,675.00	\$177,750,95					
TOTAL BID PRICE	\$730,380.00	\$726,410.00	\$871,745.55					

Description	Rio-Bak Corporation	Ranger Construction Industries	
Bid Form (Pages BF-2 to BF-8)		✓	
Addendum No. 1 - First Page Signed	1	✓	
Addendum No. 2 - First Page Signed	✓	✓	
Addendum No. 3 - First Page Signed	~	✓	
Bid Bond (Attachment No. 1)	✓	✓	
OEBO Schedules (Attachment No. 2)	To be reviewed b	y the PBC OEBO	
List of Subcontractors/Self Performed Trades (Attachment No. 3)	4	✓	
Trench Safety Affidavit (Attachment No. 4)	Y	✓ ·	
Certification of Business Location (Attachment No.5)	✓	✓	
Certification of Business Location - Glades Subcontractor (Attachment No. 5a)	N/A	N/A	
Unit Price Bid Form (Attachment No. 6)	✓	✓	
E-Verification Certification (Attachment No. 7)	✓	✓	

OEBO PARTICIPATION EVALUATION FORM

DATE SENT: 4/8/2022	PROJECT MANAGER: George Santos							
PROJECT #: PB 22-1	PROJECT NAME: Miscellaneous Drainage Repair							
USER DEPARTMENT: Airports/Planning & Development SOLICITATION OPENING DATE: Mar 31, 2022								
OEBO ESTABLISHED API: SBE Subcontracting (Minimum of 8%)								

SOLICITATION EVALUATION INFORMATION

RESPONDENTS	PRIME IS A CERTIFIED S/M/WBE	PRIME IS RESPONSIVE TO API	PERCENTAGE OF S/M/WBE UTILIZATION
Rio Bak	()	1	9.30%
Ranger	2	1	9.70%
			0.00%
			0.00%
			0.00%
			0.00%
			0.00%

KEYS FOR DETERMINATIONS: (NOTED N THE SOLICITATION EVALUATION INFORMATION TABLE)
(1) YES
(2) NO
(3) N/A

EVALUATION NOTES:

Evaluated by: Anthony Gregory	
Signature:	Date: 04/11/22
Reviewed by: Allen Gray	
Signature:	Date: 04/11/22

(Page 10 of 11)

	ndent:		- deriver and design	Rio-Bak Corporation 12773 Forest Hill Blvd, 210Wellington, FL	33414	Bid Amount: \$ 726,410.00	NON-MINISTER AN APPRINTED
SBE	МВЕ	WBE	NON- SBE	Subcontractor/Sub consultant Name	Expiration Date	Dollar Amount/ Percent	Supplier
	√			Contractors Support Services	01/26/23	67,556.13 / 9.3%	
			\checkmark	Johnson Davis			
			\checkmark	FHEC	ker an annah kala da pi da da pi kara su		
			\checkmark	Agricultural Land Ser	-	etromonomies sen teles relatifiées funda est de particule, se reser, sum - resea, que se	
						B	
					i halaski wena na - a zangenamezanana aan		
				SBE PARTICIPATION TOTAL	\$67,	556.13	
Respo	ndent:			Ranger Construction Industries, Inc 101 Sansbury's WayWest Palm Beach, FL		Bid Amount: \$ 871,745.55	
Respo	ndent: MBE	WBE	NON- SBE	•	. 33411		Supplier
· The annual law visual of 1940	and the state of t	WBE		101 Sansbury's WayWest Palm Beach, FL	Expiration Date	\$ 871,745.55 Dollar Amount/ Percent	Supplier
SBE	and the state of t	WBE		101 Sansbury's WayWest Palm Beach, FL Subcontractor/Sub consultant Name	Expiration Date 10/24/2024	\$ 871,745.55 Dollar Amount/ Percent \$4,250/ .51%	Supplier
· was announced as some as some	and the state of t	WBE		101 Sansbury's WayWest Palm Beach, FL Subcontractor/Sub consultant Name Pacifica Engineering Services	Expiration Date 10/24/2024 1/28/2024	\$ 871,745.55 Dollar Amount/ Percent \$4,250/ .51% \$15,939/1.83%	Supplier
SBE	and the state of t			101 Sansbury's WayWest Palm Beach, FL Subcontractor/Sub consultant Name Pacifica Engineering Services Treecycle Land Clearing Inc.	Expiration Date 10/24/2024 1/28/2024 11/3/2022	\$ 871,745.55 Dollar Amount/ Percent \$4,250/ .51% \$15,939/1.83%	Supplier
SBE	and the state of t			101 Sansbury's WayWest Palm Beach, FL Subcontractor/Sub consultant Name Pacifica Engineering Services Treecycle Land Clearing Inc. Agricultural Land Services, Inc.	Expiration Date 10/24/2024 1/28/2024 11/3/2022 5/7/2024	\$ 871,745.55 Dollar Amount/ Percent \$4,250/.51% \$15,939/1.83% \$2,940/.36%	Supplier

OEBO Compliance Form J v.4 page 2

(Page 11 of 11)

BUDGET TRANSFER

BOARD OF COUNTY COMMISSIONERS PALM BEACH COUNTY, FLORIDA

Page 1 of 1 pages

Fund 4111

Airport Passenger Improvement and Development Fund

Advantage Document Numbers: BGEX 0509222/1318

Total Appropriations & Expenditures Signatures Date By Board of County Commission OFMB At Meeting of	ACCT.NUMBER	ACCOUNT NAME	ADOPTED BUDGET	CURRENT BUDGET	INCREASE	DECREASE	ADJUSTED BUDGET	EXPENDED/ ENCUMBERED AS OF 06/13/2022	REMAINING BALANCE
Total Appropriations & Expenditures Signatures	Expenditures								
Total Appropriations & Expenditures Signatures Date By Board of County Commissing County Commissing County Commissing County Commissing County Commissing County County Commissing County Count	21-A422-6505	lotb Non Infrastructure	400,000	400,000	55,233		455,233	29,148	426,085
Signatures Date By Board of County Commission OFMB INITIATING DEPARTMENT/DIVISION Administration/Budget Department Approval Date By Board of County Commission At Meeting of July 12, 2022 Deputy Clerk to the	121-A900-9909	Reserves Improvement Program	19,773,212	9,689,477		55,233	9,634,244	0	9,634,244
OFMB INITIATING DEPARTMENT/DIVISION At Meeting of July 12, 2022 Indministration/Budget Department Approval Deputy Clerk to the		Total Appropriations & Expenditures			55,233	55,233	Ō		
INITIATING DEPARTMENT/DIVISION dministration/Budget Department Approval Deputy Clerk to the			Signatures			Date	ı	By Board of County Co	mmissioners
Administration/Budget Department Approval Deputy Clerk to the			+ / Ohhou)	TIMA GIAN A A	M	While) A	-	
	INITIATING DEF	PARTMENT/DIVISION	1 Dent and	MINISHIME	· · · · · · · · · · · · · · · · · · ·	PHA	_	July 12, 2022	
Board of Country Commissione		1 (5)					ī	Deputy Clerk to the	